


5,093,000

4,630,000

L=29.4

XI-B-c-500 L=19.4m

700*700*1000 =2.0

400*400 =2.9m
As t=5cm A=190.0

[EEN




07 05 20

07 01

07 01

06

2)-2

)-2




H00100

5,093,000
H00200
5,093,000
01
K0005
5,093,000
Q00001

5,093,000




01

K0005
1 5,093,000
W
1 2,098,127 86,400
X
1 2,003,327 86,400
Y
1 268,945 1 27,500
SP210100-0001 -1- -1
9. m3 1,249 11,990 1
SP210030-0001 -1- -1
29 m3 2,185 64,020 2
SP210410-0001 -1- -12
10: m3 3,919 40,365 3
E0023
27; m3 5,548 152,570 1 1 27,500
Y
1 1,078,327
XIBc500 E0038
19: 18,490 358,706 2
E0010
1L m3 27,600 33,120 3
C 500 E0019
35 3,744 131,040 4




Ca500S E0031
2 43,410 86,820 5
400x 400 L2000 E0040
2.9 88,508 256,673 6
E0010
0:58 m3 27,600 16,008 3
700*700*1000 E0041
2 97,980 195,960 7
Y
1 459,691
( )
150mm 1 SP410031-0001 -1- -1
RC-40 15i5 m2 1,059 16,414 4
( )
150mm 1 SP410041-0001 -1- -1
M-40 15:5 m2 1,393 21,591 5
( )1 50mm
(20) SP410261-0001 -1- -1
1.4 2.20 190 m2 2,090 397,100 6
SP410010-0001 -1- -1
190 m2 129.4 24,586 7
Y
1 196,364 58,900
15cm SP430510-0001 -3- -1
20 708.1 14,162 8
E0042
0:1 m3 69,796 6,979 8 1 6,000




15¢m SP430310-0001 -3~ -1
190 m2 212 40,280 9
( 15cn ) SP227010-0001 -2-25-1
6.5kn  DID C ) 9. m3 3,047 28,946 10
(
TFDO30H110 P37
() 22. 1,600 35,680 35,680
$824010-0001 -1- 41
2. m3 16,910 43,966 1
$824010-0003 -1- 41
0. m3 8,364 3,345 2
« )
SP227010-0002 -2-25-1
8.0kn  DID C ) 2. m3 1,980 5,148 11
« )
SP227010-0003 -2-25-1
8.0kn  DID C ) 0. m3 1,595 638 12
(
« ) TFD020H110 P37
() 6. 2,400 15,600 = 15,600
(
« ) TFDO10H110 P37
() 0. 1,800 1,620 - 1,620
X
1 94,800
B
[0.904(3/1  0.908)] TR0900 P836
900 6 15,800 94,800
P0000001

2,098,127




H03701

515,500
( )
H00802
38,500
H20003
4,600
( ) TT9940 P555
910 4,600 4,600
H20005
33,900
D0001
33,900 33,900 1
« )
H00803
477,000
2,074,670%23.00% Q00910
477,000
HO0600
2,613,627
2,556, 270%45.00% Q00601
1,150,000
H00500
3,763,627
3,706,270%23.57%+1,482-8,676 Q00501

866,373




4,630,000

HO00400

4,630,000*10.00%

463,000

00401

5,093,000

Q00402




<<

>>

06

<<

>>

2,098,127

86,400

62,943 = 2,098,127 * 3.00 / 100

23,457 = 86,400 - 62,943

2,074,670 = 2,098,127 - 86,400 + 62,943

23.00 = 19.17 * 1.20

477,174.1 = 2,074,670 * 23%

0 = 2,074,670 * 0.00%

477,000 = 477,174.1 + O

2,098,127

oo o olo oo

86,400

0

23,457 = 23,457 * 86,400 / 86,400

2,074,670 = 2,098,127 - 23,457




477,000 = 477,000 * 2,074,670 / 2,074,670

2,579,727

2,556,270 = 2,579,727 - 86,400 + 62,943

45.00 = 40.91 * 1.10

1,150,321.5 = 2,556,270 * 45%

0 = 2,556,270 * 0.00%

1,150,000 = 1,150,321.5 + O

2,613,627

0

0

0

33,900

23,457 = 23,457 * 86,400 / 86,400

2,556,270 = 2,579,727 - 23,457

1,150,000 = 1,150,000 * 2,556,270 / 2,556,270

3,729,727

3,706,270 = 3,729,727 - 86,400 + 62,943

23.57 = 23.57 * 1.00

873,567.839 = 3,706,270 * 23.57%

1,482 = 3,706,270 * 0.04%

875,049 = 873,567.839 + 1,482

3,763,627




0

0

33,900

23,457 = 23,457 * 86,400 / 86,400

3,706,270 = 3,729,727 - 23,457

875,049 = 875,049 * 3,706,270 / 3,706,270

8,676 = 4,638,676 - 4,630,000

866,373 = 875,049 - 8,676




01
2,098,127 2,098,127
515,500 515,500
38,500 38,500
0 0
0 0
0 0
4,600 4,600
0 0
33,900 33,900
0 0
0 0
477,000 477,000
477,000 477,000
0 0
2,613,627 2,613,627

10




01

1,150,000 1,150,000
0 0

0 0
3,763,627 3,763,627
866,373 866,373
4,630,000 4,630,000
463,000 463,000
5,093,000 5,093,000

11




(D0001)

L0006 P859 P922 2025.
3,100 3,100
L0007 P859 P922 2025.
3,100 3,100
L0008 P859 P922 2025.
3,000 3,000
L0009 P859 P922 2025.
3,400 3,400
L0010 P859 P922 2025.
4,000 4,000
L0011 P859 P922 2025.
4,000 4,000
L0012 P859 P922 2025.
4,100 4,100
L0013 P859 P922 2025.
9,200 9,200
P0000001
33,900
P0000002
33,900

12




(E0023)

m3
, = 1,000 )
0.28m3( 0.2m3) SP210110-0001 -1- -1
19.0km DID ( ) m3 4,417 4,417 13
SP210610-0001 -1- -1
m3 131.9 131 14
L0002
m3 1,000 1,000 : 1,000
P0000001
5,548
P0000002
5,548

13




(E0038)
XIBc500

10

L=2000mm 1000kg/ $821420-0001 -1- -1
10 18,490 184,900 3
P0000001
184,900
P0000002
18,490

14




3 (E0010)
m3
SP240010-0001 -4- -1
18-8-40( ) m3 27,600 27,600 15

P0000001

27,600
P0000002

27,600

15




4 (E0019)
C 500

3 500 62.2x 12.5x 50

$821430-0001

3,744 3,744 4
P0000001
3,744
P0000002
3,744

16




(E0031)

Ca500S

40 170kg/ $821430-0002 -1- -1
43,410 43,410 5
P0000001
43,410
P0000002
43,410

17




6 (E0040)
400x 400 L2000

10

$821410-0001 -1- -1
10 6,758 67,580 6
T25
400x 400 L2000 1348.0kg/ L0017
5 163,500 817,500
P0000001
885,080
P0000002
88,508

18




7 (E0041)
1 700*700*1000
0.30m3 0.32m3 SP222950-0001 -2 -32
18-8-40( ) ( 51,080 51,080 16
Ea700S
T25 65.0kg 19.8kg TT4835 P307
910 46,900 46,900
P0000001
97,980
P0000002
97,980

19




8 (E0042)
m3
, : 60,000 )
7.0km $232010-0001 -3- -2
m3 9,796 9,796 7
)
TFD160H012 P39
() m3 60,000 60,000 : 60,000
P0000001
69,796
P0000002
69,796

20




1 (5824010-0001)

( , ) ( -1- -1 , )
TTDH17 P662
1 m3 16,905 16,905
73000004
1 5
P0O000001
16,910
P0O000002
16,910

1
(dht)=FUNC_TANKA((DHc))

16,905=FUNC_TANKA(TTDH17)

(DHH)=(K1)
1=1

]
[A] = 2 [B] = 1
EC% = g 0] = 2
E]l =

21




2 (5824010-0003)

( , ) ( -1- -1 , )
TTDH11 P662
1 m3 8,364 8,364
73000004
1
P0O000001
8,364
P0O000002
8,364

1
(dht)=FUNC_TANKA((DHc))

8,364=FUNC_TANKA(TTDH11)

(DHH)=(K1)
1=1

]
[A] = 1 [B] = 1
EC% = g 0] = 2
E]l =

22




3 (S821420-0001)

L=2000mm 1000kg/ 10
( , ) ( -1- -1 , )
L=2000mm 1000kg/ TTDG31 P658
10 6,231 62,310
B( )X Bc600
A500x C600x L2000 764kg/ TT2711 P322
910 5 23,600 118,000
SN2401-0001
0.148  m3 17,900 2,649 8
« D
RC-40 TT8454 P211
910 0.876  m3 2,150 1,883
73000004
1 58
P0O000001
184,900
P0O000002
18,490
1
(dht)=FUNC_TANKA((DHc))
6,231=FUNC_TANKA(TTDG31)
(DHH)=(K4)
1=1
(NC2)=[H]x 1.06 ( )
0.148=0.14x 1.06
(83)=[C]* 1.20 ( )
0.876=0.73x 1.20
1
[A] = 2 [B] = 1 L.=2000mm_1000kg/

23




3 (5821420-0001)
L=2000mm 1000kg/

10

( ) (1= -1

[C]= 3 [NA] = 4 18-8-40 60%
[Na] = 1 [\b] =1
[Nc] =1 [D] = 0.000 m3
[E]= 1 [Fl=5 40
[6G] = 0.730 m3 [\NB] = 37
[Nd] = 1 [Ne] =1
EN{] =1 - [H] = 0.140 m3

11 = 5.

24




4 (5821430-0001)
3 500 62.2x 12.5x 50

( , )y ( -1- -1 , )
40 170kg/ TTDG50 P660
1 904 904
U 1S3 )
Cg500 L500 91kg/ TT4010 P299
B0O 1 2,840 2,840
73000004
1
P0O000001
3,744
P0O000002
3,744

1
(dht)=FUNC_TANKA((DHc))

904=FUNC_TANKA(TTDG50)
(DHH1)=(K2)

1=1
[ 1

[A] = 1 [B] = 18 3 500 62.2x 12.5x 50

[C]= 2 40 170kg/ [b] = 3

[E]l = 2 [F1=11

25




5 (5821430-0002)

40 170kg/
( , )y ( -1- -1 , )
40 170kg/ TTDG50 P660
1 904 904
T-25
Ca500S 77.9kg/ TT4618 P304
910 1 42,500 42,500
73000004
1 6
P0O000001
43,410
P0O000002
43,410
1
(dht)=FUNC_TANKA((DHc))
904=FUNC_TANKA(TTDG50)
(DHH1)=(K2)
1=1
[ 1
[A] = 1 [B] = 19
[c]= 2 40 170kg/ [0] = 3
[E]1= 2 [F1=1

26




6 (5821410-0001)

( , ) ( -1- -1 , )
U
L=2000mm 1000 2000kg/ TTDGO4 P657
10 6,409 64,090
« D
RC-40 TT8454 P211
910 1.62 m3 2,150 3,483
73000004
1 7
P0O000001
67,580
P0O000002
6,758
[

1
(dht)=FUNC_TANKA((DHc))

6,409=FUNC_TANKA(TTDG04)
(DHH1)=(K1)x (K2)x (K4)

1=1x 1x 1
(S2)=[J]% 1-20 ( )
1.62=1.35x 1.20
[ 1
[A] = 1 [B] = L=1,000mm 4,000mm
[E] = 4 L=2000mm 1000 2000kg/ [F1 =3
[6] = 1 [Hl = 1
[11= 5 40 0 [0] = |1.350 m3
[K] = 5.000

27




7 (5232010-0001)

7.0k 100 m3
-3- -2 ) )
[0.847(3/1  0.828)] TR0030 P833
900 9259 23,000 212,957
9.0m3 $923619-0001
9.259 82,790 766,552
73000004
1 o1
P0000001
979,600
P0000002
9,79

]
(R13)=1x 100+ (D)

9.259=1x 100+ 10.8
(KD)=100+ (D)
9.259=100+ 10.8

[

1
[A] = 1 7.0km

28




m3

8 (SN2401-0001)
( ) ) ( , )
18-8-40-60 TT8600 P82
910 m3 17,900 17,900
P0O000001
17,900
P0O000002
17,900
1
[N1] = 37 [N2] =
[N3] = 1 [N4] =

29




1 (SP210100-0001)

1 m3
-1- -1 1,249.00
D) (D)
27.26
2
0.28m3( 0.2m3) TM502002121 p2-1-10
25.837 322.7 27.26 7,700 7,520
61.70
[0.793(3/1 0.778)] TR0120 P833
900 62.042 774.9 61.70 27,700 28,700
11.04
( ) TT0250 P247
910 12.074 150.8 11.04 134 151
0.047 0.6
1
(G 1,212.3 x {
(27.26 100x 7,520 7,700)x 27.26 27.26
(61.70 100x 28,700 27,700)x 61.70 61.70
(11.04 100x 151 134)x 11.04 11.04
(100 27.26 61.7 11.04) 100} 1,249.00
1
[J1]1 =1 [J2] = 5 (
[J6] =7

30




2 (SP210030-0001)

1 m3
( -1- -1 2,185.00
(%) (%)
19.87
22
0.28m3(  0.2m3) TM502003121 P2-1-13
19.259 420.8 19.87 8,670 8,460
72.99
[0.793(3/1  0.778)] TR0120 P833
900 41.130 898.7 39.96 27,700 28,700
[0.847(3/1  0.828)] TR0030 P833
900 31.574 689.9 33.03 23,900 23,000
7.14
( ) TT0250 P247
910 7.991 174.6 7.14 134 151
0.046 1
1
")  2,170.7 x {
(19.87 100x 8,460 8,670)x 19.87 19.87
(39.96 100x 28,700 27,700 33.03 100x 23,000 23,900)x 72.99 (39.96 33.03)
(7.14 100x 151 134)x 7.14 7.14
(100 19.87 72.99 7.14) 100}  2,185.00
1
[J1] = 1 [02] =5 (

31




(SP210030-0001)

m3
2,185.00

()

Q)

[35] = 1

32




3 (SP210410-0001)
1 m3
( , ) ( -1- -12 3,919.00
Q) ()
9.48
22
0.28m3( 0.2m3) TM502003121 pP2-1-13
8.576 336.1 8.90 8,670 8,460
60 80kg TM10800612 pP2-1-59
0.618 24.21 0.58 496 535
86.47
[0.847(3/1 0.828)] TRO030 P833
900 46.976 1,841 49.42 23,900 23,000
[0.783(3/1 0.769)] TR0020 P833
900 20.990 822.6 19.17 26,700 29,600
(
[0.793(3/1 0.778)] TR0O120 P833
900 18.298 717.1 17.88 27,700 28,700
4.05
( ) TT0250 p247
910 3.560 139.5 3.20 134 151
TT0240 p247
910 0.952 37.32 0.85 149 169
0.030 1.17
(GD) 3,871.1 x {

33




3 (SP210410-0001)

)y ( -1- -12

m3
3,919.00

()

Q)

(8.90 100x 8,460 8,670 0.58 100x

535 496)x 9.

(49.42 100x 23,000 23,900 19.17 100x 29,600 2

(3.20 100x 151 134 0.85 100x 169

149)x 4.05

48 (8.90 0.58)
6,700 17.88 100x 2
(3.20 0.85)

8,700 27,700)x 86.47 (49.42

19.17 17.88)

(100 9.48 86.47 4.05) 100} 3,9

19.00

[J2] = 1

34




4 (SP410031-0001)
( ) 150mm 1 1 m2
( RC-40 , -1- -1 1,059.00
() €)
5.62
[ ]
0.11m3( 0.08m3) TK9220 P568
BOO 2.384 25.25 2.91 3,410 3,770
(
3-4t TK2610 P566
BOO 1.991 21.08 2.55 3,540 3,730
C )
0.127 1.35
72.88
[0.847(3/1 0.828)] TRO030 P833
900 21.747 230.3 30.50 23,900 23,000
[0.793(3/1 0.778)] TRO120 P833
900 20.208 214 26.32 27,700 28,700
[0.783(3/1 0.769)] TR0020 P833
900 11.445 121.2 13.94 26,700 29,600
C )
1.600 16.94
21.50
RC-40 TT8454 P211
910 38.659 409.4 19.41 120,000 322,500
( ) TT0250 pP247
910 1.695 17.95 2.03 134 151

35




4 (SP410031-0001)

( ) 150mm 1 m2
( RC-40 . ) -1- -1 , 1,059.00
() €)
C )
0.112 1.19
0.032 0.34
[ 1

(P*)  784.89 x {

(2.91 100x 3,770 3,410 2.55 100x
(30.50 100x 23,000 23,900 26.32 100x 28,700 2
(19.41 100x 322,500 120,000 2.03

3,730 3,540)

100x 151 134

x 5.62 (2.91 2.55)
7,700 13.94 100x 2
x 21.50 (19.41 2.

9,600 26,700)x 72.88 (30.50

03)

26.32 13.94)

(100 5.62 72.88 21.5) 100}  1,059.00

[ 1
[J1] = 150.000 mm [J2] = 1 1
[J3] = 6 RC-40 [04 = 1

36




5 (SP410041-0001)
( ) 150mm 1 1 m2
( M-40 ) -1- -1 1,393.00
() €)
5.20
[ ]
0.11m3( 0.08m3) TK9220 P568
BOO 1.811 25.23 2.69 3,410 3,770
(
3-4t TK2610 P566
BOO 1.514 21.09 2.36 3,540 3,730
C )
0.098 1.37
67.43
[0.847(3/1 0.828)] TRO030 P833
900 16.540 230.4 28.22 23,900 23,000
[0.793(3/1 0.778)] TRO120 P833
900 15.363 214 24.35 27,700 28,700
[0.783(3/1 0.769)] TR0020 P833
900 8.708 121.3 12.90 26,700 29,600
C )
1.215 16.93
27.37
M-40 40 Omm TT8344 P181
910 53.317 742.7 25.44 170,000 585,000
( ) TT0250 pP247
910 1.290 17.97 1.88 134 151

37




5 (SP410041-0001)

( ) 150mm 1 m2
( M-40 . ) ( -1- -1 , 1,393.00
() €)
C )
0.100 1.39
0.044 0.62
[ 1

(P*)  848.39 x {

(2.69 100x 3,770 3,410 2.36 100x
(28.22 100x 23,000 23,900 24.35 100x 28,700 2
(25.44 100x 585,000 170,000 1.88

3,730 3,540)

100x 151 134

x 5.20 (2.69 2.36)
7,700 12.90 100x 2
x 27.37 (25.44 1.

9,600 26,700)x 67.43 (28.22

88)

24.35 12.90)

(100 5.2 67.43 27.37) 100}  1,393.00

[ 1
[J1] = 150.000 mm [J2] = 1 1
[J3] = 6 M-40 [04] = 1

38




6 (SP410261-0001)
( )1 50mm (20) 1 m2
( 1.4 , 2.20) ( -1- -1 2,090.00
() €)
2.65
1.4 3.0 TM11000012 P2-1-63
1.360 28.43 1.99 15,600 15,200
( )
3-4t TK2610 P566
BOO 0.281 5.87 0.38 3,540 3,730
C )
0.194 4.05
23.01
[0.847(3/1 0.828)] TRO030 P833
900 5.852 122.3 8.67 23,900 23,000
[0.783(3/1 0.769)] TR0020 P833
900 4.511 94.28 5.80 26,700 29,600
C )
[0.793(3/1 0.778)] TRO120 P833
900 2.908 60.77 4.00 27,700 28,700
[0.771(3/1 0.775)] TRO010 P834
900 1.525 31.87 2.08 28,900 30,200
« )
1.771 37.02
74.34
(20)
20mm TT8415 P211
910 74.163 1,550 65.08 394,000 640,000

39




6 (SP410261-0001)

( )1 50mm (20) 1 m2
( 1.4 , 2.20) ( -1- -1 , ) 2,090.00
() €)
PK-3 PK-4 TT0211 pP217
BOO 7.053 147.4 8.85 103 117
( ) TT0250 pP247
910 0.292 6.11 0.37 134 151
C )
0.044 0.91
0.046 0.99
[ ]
(GD) 1,466.4 x {
(1.99 100x 15,200 15,600 0.38 100x 3,730 3,540)x 2.65 (1.99 0.38)
(8.67 100x 23,000 23,900 5.80 100x 29,600 26,700 4.00 100x 28,700 27,700 2.08 100x 30,200 28,900)x 23.01 (8.67

5.

80 4.00 2.08)

(65.08 100x 640,000 394,000 8.85
(100 2.65 23.01 74.34) 100} 2,

100x 117 103
090.00

0.37 100x 151 13

4)x 74.34 (6

5.08 8.85 0.37)

[ 1
[J2] = 50.000 mm 1 [J1] = 3 1.4m
[A1] = 10 (20) [94] = 3 PK-3
[J6] =1

40




7 (SP410010-0001)
1 m2
-1- -1 129.40
D) (D)
23.12
[ ] 2
3.1 TM50700022 p2-1-56
10.680 13.82 11.29 17,900 17,600
2
10t 2.1m TM50800022 p2-1-57
8.663 11.21 8.94 13,600 13,700
8t 20t TK2630 P569
BOO 3.022 3.91 2.89 4,480 4,870
68.86
« )
[0.793(3/1 0.778)] TR0120 P833
900 43.949 56.87 44.09 27,700 28,700
[0.783(3/1 0.769)] TR0020 P833
900 13.709 17.74 12.86 26,700 29,600
[0.847(3/1 0.828)] TR0030 P833
900 8.872 11.48 9.59 23,900 23,000
[0.771(3/1 0.775)] TR0010 P834
900 2.326 3.01 2.32 28,900 30,200
8.02
( ) TT0250 P247
910 8.694 11.25 8.02 134 151
0.085 0.11
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7 (SP410010-0001)

m2
( -1- -1 , ) 129.40
Q) ()
[ 1
P9 124.5 x {
(11.29 100x 17,600 17,900 8.94 100x 13,700 13,600 2.89 100x 4,870 4,480)x 23.12 (11.29 8.94 2.89)
(44.09 100x 28,700 27,700 12.86 100x 29,600 126,700 9.59 100x 23,000 23,900 2.32 100x 30,200 28,900)x 68.86 (44.0

9 12.86 9.59 2.32)

(8.02 100x 151 134)x 8.02 8.02
(100 23.12 68.86 8.02) 100}

12

9.40

1
[J1] = 1

[J4] =1
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8 (SP430510-0001)
15cm 1
-3- -1 708.10
() €)
15.42
[ ]
@ 56¢cm 20cm TM21001222 p2-1-71
10.129 71.72 10.49 12,800 13,000
C )
4.761 33.71
57.13
[0.783(3/1 0.769)] TR0020 P833
900 20.647 146.2 19.60 26,700 29,600
[0.771(3/1 0.775)] TRO010 P834
900 10.482 74.22 10.55 28,900 30,200
[0.847(3/1 0.828)] TRO030 P833
900 7.988 56.56 8.73 23,900 23,000
C )
18.359 130
27.45
45cm(18 TT9877 P552
BOO 23.203 164.3 23.29 68,200 71,500
TT0240 pP247
910 3.052 21.61 2.83 149 169
C )
1.337 9.47
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8 (SP430510-0001)
15cm
( -3- -1 708.10
D) (D)
0.042 0.31

P9 673.26 x {
(10.49 100x 13,000 12,800)x 15.42 |10.49
(19.60 100x 29,600 26,700 10.55 100x 30,200 28,900 8.73 100x 23,000 23,900)x 57.13 (19.60 10.55 8.73)
(23.29 100x 71,500 68,200 2.83 100x 169 149)x 27.45 (23.29 2.83)
(100 15.42 57.13 27.45) 100} 708.10

1

[J1]1 =1 [J2] =1 15cm
[J5] =1
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9 (SP430310-0001)
15cm 1 m2
( , ) ( -3- -1 , 212.00
D) (D)
13.49
1
; 0.45m3 TKQO049 P569
B0O 13.377 28.36 13.49 6,460 6,560
80.49
[0.771(3/1 0.775)] TR0010 P834
900 29.505 62.55 28.91 28,900 30,200
[0.793(3/1 0.778)] TR0120 P833
900 28.019 59.4 27.69 27,700 28,700
[0.847(3/1 0.828)] TR0030 P833
900 22.453 47.6 23.89 23,900 23,000
6.02
( ) TT0250 P247
910 6.623 14.04 6.02 134 151
0.023 0.05
P9 207.06 x {
(13.49 100x 6,560 6,460)x 13.49 13.49
(28.91 100x 30,200 28,900 27.69 100x 28,700 27,700 23.89 100x 23,000 23,900)x 80.49 (28.91| 27.69 23.89)

(6.02 100x 151 134)x 6.02 6.02

(100 13.49 80.49 6.02) 100}

212.00
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(SP430310-0001)

15cm ! m2
y ( -3- -1 , ) 212.00
%) ()
[J2] =1
[J4] = 4 15cm
[371 =1
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10 (SP227010-0001)

( 15cm ) 1 m3
(6.5km DID , ( ) ) ( -2-25-1 3,047.00
() €)
44.95
10 TM103000521 p2-1-22
42.238 1,287 44.95 20,667 20,847
38.97
[0.816(3/1 0.793)] TRO130 P833
900 40.827 1,244 38.97 22,400 25,200
16.08
( ) TT0250 pP247
910 16.885 514.5 16.08 134 151
0.050 1.5
1
(At002)=FUNC_KIKAI ((At001),0)
20,100=FUNC_KIKAI(TM103000521,0)
(At004)=FUNC_TANKA((At003)) (10t )
747=FUNC_TANKA(TFM0404)
(At005)=(At002) (At004)
20,847=20100 747
]
(GD) 2,839.5 x {
(44.95 100x 20,847 20,667)x 44.95 44.95
(38.97 100x 25,200 22,400)x 38.97 38.97
(16.08 100x 151 134)x 16.08 16.08
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10 (SP227010-0001)

( 15cm ) 1 m3
(6.5km DID , ( ) ) ( -2-25-1 , ) 3,047.00

() Q)

(100 44.95 38.97 16.08) 100}  3,047.00

1
[J1] = 3 [J2] = 3 ( 15cn )
[331=1 DID DID [0A] = 4 6.5km
[0J] =1
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11 (SP227010-0002)

C ) 1 m3
8.0k DID , « ) ) ( -2-25-1 1,980.00
(D) (D)
41.69
10 TM103000521 p2-1-22
39.035 772.9 41.69 20,667 20,847
43.88
[0.816(3/1  0.793)] TRO130 P833
900 45.823 907.3 43.88 22,400 25,200
14.43
( ) TT0250 P247
910 15.091 298.8 14.43 134 151
0.051 1
1
(At002)=FUNC_KIKAI((At001),0)
20,100=FUNC_KIKAI(TM103000521,0)
(At004)=FUNC_TANKA((At003)) (10t )
747=FUNC_TANKA(TFM0404)
(At005)=(At002) (At004)
20,847=20100 747
]
(GD) 1,838.1 x {
(41.69 100x 20,847 20,667)x 41.69 41.69
(43.88 100x 25,200 22,400)x 43.88 43.88

(14.43 100x 151 134)x 14.43 14.43
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11 (SP227010-0002)
C ) 1 m3
8.0k DID , « ) ) ( -2-25-1 , ) 1,980.00

() Q)

(100 41.69 43.88 14.43) 100}  1,980.00

]
1] =2 C D [J2] = 1
[J31 =1 DID DID [JE] = 4 8.0km
[3J]1 =1
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12 (SP227010-0003)

C ) 1 m3
(8.0km DID , ( ) ) ( -2-25-1 1,595.00
(D) (D)
41.69
10 TM103000521 p2-1-22
39.034 622.6 41.69 20,667 20,847
43.88
[0.816(3/1  0.793)] TRO130 P833
900 45.824 730.9 43.88 22,400 25,200
14.43
( ) TT0250 P247
910 15.091 240.7 14.43 134 151
0.051 0.8
1
(At002)=FUNC_KIKAI((At001),0)
20,100=FUNC_KIKAI(TM103000521,0)
(At004)=FUNC_TANKA((At003)) (10t )
747=FUNC_TANKA(TFM0404)
(At005)=(At002) (At004)
20,847=20100 747
]
(GD) 1,480.7 x {
(41.69 100x 20,847 20,667)x 41.69 41.69
(43.88 100x 25,200 22,400)x 43.88 43.88

(14.43 100x 151 134)x 14.43 14.43
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12 (SP227010-0003)
C ) 1 m3
(8.0kn  DID , « ) ) ( -2-25-1 , ) 1,595.00

() Q)

(100 41.69 43.88 14.43) 100}  1,595.00

]
by =1 C D [J2] = 1
[J31 =1 DID DID [JE] = 4 8.0km
[3J]1 =1
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13 (SP210110-0001)
0.28m3(  0.2nm3) 1 m
(19.0km  DID , « ) Y ( -1- -1 4,417.00
Q) ()
24.45
4 TM103000221 P2-1-22
25.175 1,112 24.45 7,323 8,571
63.42
[0.816(3/1  0.793)] TR0130 P833
900 62.758 2,772 63.42 22,400 25,200
12.13
( ) TT0250 p247
910 12.026 531.2 12.13 134 151
0.041 1.8
1
(At009)=FUNC_KIKAI((At008),0)
8,310=FUNC_KIKAI(TM103000221,0)
(At011)=FUNC_TANKA((At010)) @t )
261=FUNC_TANKA(TFM0104)
(At012)=(At009) (AtO11)
8,571=8310 261
1
(P*) 3,886.2 x {
(24.45 100x 8,571 7,323)x 24.45 24.45
(63.42 100x 25,200 22,400)x 63.42 63.42
(12.13 100x 151 134)x 12.13 12.13
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13 (SP210110-0001)
0.28n3(  0.2m3) 1 m
(19.0km  DID , « ) Y ( -1- -1 , ) 4,417.00

() Q)

(100 24.45 63.42 12.13) 100}  4,417.00

1
[J1] = 2 [2]1 = 5 0.28n3(  0.2m3)
[J3] = 1 ( ) [041=1 DID DID
[J0] = 12 19.0knm

54




14 (SP210610-0001)
1 m3
-1- -1 131.90
Q) ()
23.13
[ 1
0.8m3( 0.6m3) TK9203 P568
B0OO 23.328 30.77 23.13 8,800 9,490
51.64
[0.793(3/1 0.778)] TR0120 P833
900 50.045 66.01 51.64 27,700 28,700
25.23
( TT0250 P247
910 26.588 35.07 25.23 134 151
0.039 0.05

]

(P*) 123.38 x {

(23.13 100x 9,490 8,800)x 23.13 23.13
(51.64 100x 28,700 27,700)x 51.64 51.64

(25.23 100x 151 134)x 25.23 25.23

(100 23.13 51.64 25.23) 100}  131.90

1
[91] = 1
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15 (SP240010-0001)
1 m3
( 18-8-40( ) s ) ( -4 -1 s 27,600.00
Q) ()
29.40
[0.847(3/1 0.828)] TR0030 P833
900 12.909 3,563 13.20 23,900 23,000
[0.783(3/1 0.769)] TR0020 P833
900 8.460 2,335 7.51 26,700 29,600
[0.771(3/1  0.775)] TR0010 P834
900 7.105 1,961 6.69 28,900 30,200
« )
2.079 573.7
70.60
18-8-40-60 TT8600 P82
910 69.424 19,161 70.60 18,500 17,900
0.023 6.3
1
(At008)=FUNC_TANKA((At007))
17,900=FUNC_TANKA(TT8600)
(At015)=(At008) (At009) (At010) (AtO11) (At012) (At013) (At014)
17,900=17900 0 0 0 0 O O
(GD) 28,051 x {
(13.20 100x 23,000 23,900 7.51 100x 29,600 26,700 6.69 100x 30,200 28,900)x 29.40 (13.20 7.51 6.69)
(70.60 100x 17,900 18,500)x 70.60 70.60
(100 29.4 70.6) 100} 27,600.00
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15 (SP240010-0001)
1 m3
( 18-8-40( ) ) ( -4 -1 27,600.00
() (%)
1
1] =1 [J9] = 3
[N1] = 16 18-8-40( )60% [J5] = 2
[71 = 2 [JB] =1
[N3] =1 [N4] = 1
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16 (SP222950-0001)
«C ) 0.30m3 0.32m3 1
( 18-8-40( ) C ) )( -2- -3 51,080.00
Q) ()
0.09
[ 1
0.8m3(  0.6m3) TK9203 P568
BOO 0.095 48.28 0.09 8,800 9,490
87.72
[0.893(3/1  0.898)] TR0260 P835
900 35.738 18,255 33.98 27,500 29,700
[0.847(3/1  0.828)] TR0030 P833
900 27.79 14,198 29.66 23,900 23,000
[0.771(3/1  0.775)] TR0010 P834
900 11.560 5,905 11.36 28,900 30,200
[0.783(3/1  0.769)] TR0020 P833
900 2.071 1,058 1.92 26,700 29,600
« )
10.834 5,534
12.19
18-8-40-60 TT8600 P82
910 11.509 5,879 11.82 17,900 17,900
( ) TT0250 P247
910 0.088 44.84 0.08 134 151
« )
0.282 144.3
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16 (SP222950-0001)

«C ) 0.30m3 0.32m3 1
( 18-8-40( ) , C ) )( -2- -3 , ) 51,080.00
Q) ()
0.027 13.58

1
(At008)=FUNC_TANKA((AL007))

17,900=FUNC_TANKA(TT8600)
(At013)=(At008) (At009) (At010) (At01l) (At012)
17,900=17900 0 0 0 0

1
(P7) 49,745 x {

(0.09 100x 9,490 8,800)x 0.09 0.09
(33.98 100x 29,700 27,500 29.66 [100x 23,000 23,900 11.36 100x 30,200 28,900 1.92 100x 29,600 26,700)x 87.72 (33.

98 29.66 11.36 1.92)

(11.82 100x 17,900 17,900 0.08 100x 151 134)x 12.19 (11.82 0.08)
(100 0.09 87.72 12.19) 100}  51,080.00

[ 1
[N1] = 4 18-8-40( )60% [021=6 1 0.30m3 0.32m3
[J4] = 2 [33] = 1 (
[N3] =1 [N4] =1
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